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(1), Y'(x)+2y=2y"p(0)=3 (10%)

(2). (cos(xv)+x/ y)ds+(1+ (x/ y)cos(dy =0, W0)=1 (10%)
(3). X7 Y'2xy—4y=0, y()=4, y(1)=6 (10%) |

2. MR R Laplace Trallsfo;'ln)  SKNATE s 7R
(1. YO+ [py(@)sin(t—7)dr =1 (10%)

@) V' O+ 4y (O +3(0) = [u 1) ~u(t = 2)], y(0) = 0,5'(0) = 0 (10%)

= BEEER(50%)

dyy/dt = =3y;+y,—6e >, y(0)=0
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(1). H B (E (eigenvalues) A1, A2 B (A) A =—2, 4y =4 B) 41 =-2,0) =4

(C) /1] = 2, 12 =4 q(]:)) ﬂyl = 2, /12 = —4 (8%)
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(2). HFFEE 410 Ao FTEE 2 18R B (eigenvectors) V1s> Vo J: (A)V] :[ 1 }vz :[_ J;

(B) V| = : ,V2=1 C vlzl,vz‘—‘ : V1= —1,172:1 0
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(3). MR A1, A2 REEEE Vs Ve BipREREY =4y 4v] B (8%)
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(5). B y'= Ay Z@pig vy B (A) Y ”:qu e Je@‘;
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